Scientific Notation (])

Convert each number from scientific notation to an ordinary number.

4199 x 10° = 5723 X 10° =
6.044 X 10° = 833 x 108 =

1.6 X 10° = 8 x 10° —
6.308 x 107 = 4.7 x 108 —

9.2 X 108 = 5.76 X 10* =
4.899 x 106 = 9.8 x 108 —
2.012 x 107 = 4.5 % 107 =
7.598 x 10* = 6.078 x 105 =

3.7 x 10° = 5.986 x 10° =
1.53 x 10° = 724 x 108 =
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Scientific Notation (J) Answers

Convert each number from scientific notation to an ordinary number.

4199 x 10°

6.044 x 10°

1.6 X 10°

6.308 x 107

9.2 x 10°

4.899 x 10°

2.012 x 107

7.598 x 10*

3.7 X 10°

1.53 x 10°

419,900

6,044,000

1,600,000

63,080,000

920,000,000

4,899,000

20,120,000

75,980

370,000

153,000

5.723 x 10°

8.33 x 10°

8 x 10°

4.7 x 108

5.76 x 10*

9.8 x 108

4.5 x 107

6.078 x 10°

5.986 x 10°

7.24 x 108

572,300

833,000,000

800,000

470,000,000

57,600

980,000,000

45,000,000

607,800

598,600

724,000,000
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